

En yta i \mathbb{R}^3 parametreras av

$$\begin{cases} x = s^2 + t^2, \\ y = st, \\ z = s^2 - t^2. \end{cases}$$

Bestäm tangentplanet genom den punkt som svarar mot $(s, t) = (1, 1)$.

$$\begin{cases} x = s^2 + t^2, \\ y = st, \\ z = s^2 - t^2. \end{cases}$$

$$\begin{cases} x = s^2 + t^2, \\ y = st, \\ z = s^2 - t^2. \end{cases}$$

$$\bar{f}(s, t) = \begin{pmatrix} f_1(s, t) \\ f_2(s, t) \\ f_3(s, t) \end{pmatrix} = \begin{pmatrix} s^2 + t^2 \\ st \\ s^2 - t^2 \end{pmatrix}.$$

$$\begin{cases} x = s^2 + t^2, \\ y = st, \\ z = s^2 - t^2. \end{cases}$$

$$\bar{f}(s, t) = \begin{pmatrix} f_1(s, t) \\ f_2(s, t) \\ f_3(s, t) \end{pmatrix} = \begin{pmatrix} s^2 + t^2 \\ st \\ s^2 - t^2 \end{pmatrix}.$$

$$\frac{\partial \bar{f}}{\partial (s, t)} = \begin{pmatrix} \frac{\partial f_1}{\partial s} & \frac{\partial f_1}{\partial t} \\ \frac{\partial f_2}{\partial s} & \frac{\partial f_2}{\partial t} \\ \frac{\partial f_3}{\partial s} & \frac{\partial f_3}{\partial t} \end{pmatrix}$$

$$\begin{cases} x = s^2 + t^2, \\ y = st, \\ z = s^2 - t^2. \end{cases}$$

$$\bar{f}(s, t) = \begin{pmatrix} f_1(s, t) \\ f_2(s, t) \\ f_3(s, t) \end{pmatrix} = \begin{pmatrix} s^2 + t^2 \\ st \\ s^2 - t^2 \end{pmatrix}.$$

$$\frac{\partial \bar{f}}{\partial (s, t)} = \begin{pmatrix} \frac{\partial f_1}{\partial s} & \frac{\partial f_1}{\partial t} \\ \frac{\partial f_2}{\partial s} & \frac{\partial f_2}{\partial t} \\ \frac{\partial f_3}{\partial s} & \frac{\partial f_3}{\partial t} \end{pmatrix} = \begin{pmatrix} 2s & 2t \\ t & s \\ 2s & -2t \end{pmatrix}.$$

$$\bar{f}(1+h, 1+k) =$$

$$\bar{f}(1+h, 1+k) = \bar{f}(1, 1) + \frac{\partial \bar{f}}{\partial (s, t)}(1, 1) \begin{pmatrix} h \\ k \end{pmatrix} + \bar{\psi}(h, k)|(h, k)|,$$

där $\bar{\psi}(h, k) \rightarrow (0, 0)$ då $(h, k) \rightarrow (0, 0)$.

$$\bar{f}(1+h, 1+k) = \bar{f}(1, 1) + \frac{\partial \bar{f}}{\partial (s, t)}(1, 1) \begin{pmatrix} h \\ k \end{pmatrix} + \bar{\psi}(h, k)|(h, k)|,$$

där $\bar{\psi}(h, k) \rightarrow (0, 0)$ då $(h, k) \rightarrow (0, 0)$.

$$\bar{f}(1, 1) = \begin{pmatrix} 2 \\ 1 \\ 0 \end{pmatrix}.$$

$$\bar{f}(1+h, 1+k) = \bar{f}(1, 1) + \frac{\partial \bar{f}}{\partial (s, t)}(1, 1) \begin{pmatrix} h \\ k \end{pmatrix} + \bar{\psi}(h, k)|(h, k)|,$$

där $\bar{\psi}(h, k) \rightarrow (0, 0)$ då $(h, k) \rightarrow (0, 0)$.

$$\bar{f}(1, 1) = \begin{pmatrix} 2 \\ 1 \\ 0 \end{pmatrix}.$$

$$\frac{\partial \bar{f}}{\partial (s, t)}(1, 1) = \begin{pmatrix} 2 & 2 \\ 1 & 1 \\ 2 & -2 \end{pmatrix}.$$

$$\bar{f}(1+h, 1+k) = \bar{f}(1, 1) + \frac{\partial \bar{f}}{\partial (s, t)}(1, 1) \begin{pmatrix} h \\ k \end{pmatrix} + \bar{\psi}(h, k)|(h, k)|,$$

där $\bar{\psi}(h, k) \rightarrow (0, 0)$ då $(h, k) \rightarrow (0, 0)$.

$$\bar{f}(1, 1) = \begin{pmatrix} 2 \\ 1 \\ 0 \end{pmatrix}.$$

$$\frac{\partial \bar{f}}{\partial (s, t)}(1, 1) = \begin{pmatrix} 2 & 2 \\ 1 & 1 \\ 2 & -2 \end{pmatrix}.$$

$$\begin{pmatrix} x \\ y \\ z \end{pmatrix} = \begin{pmatrix} 2 \\ 1 \\ 0 \end{pmatrix} + \begin{pmatrix} 2 & 2 \\ 1 & 1 \\ 2 & -2 \end{pmatrix} \begin{pmatrix} h \\ k \end{pmatrix}$$

$$\bar{f}(1+h, 1+k) = \bar{f}(1, 1) + \frac{\partial \bar{f}}{\partial (s, t)}(1, 1) \begin{pmatrix} h \\ k \end{pmatrix} + \bar{\psi}(h, k)|(h, k)|,$$

där $\bar{\psi}(h, k) \rightarrow (0, 0)$ då $(h, k) \rightarrow (0, 0)$.

$$\bar{f}(1, 1) = \begin{pmatrix} 2 \\ 1 \\ 0 \end{pmatrix}.$$

$$\frac{\partial \bar{f}}{\partial (s, t)}(1, 1) = \begin{pmatrix} 2 & 2 \\ 1 & 1 \\ 2 & -2 \end{pmatrix}.$$

$$\begin{pmatrix} x \\ y \\ z \end{pmatrix} = \begin{pmatrix} 2 \\ 1 \\ 0 \end{pmatrix} + \begin{pmatrix} 2 & 2 \\ 1 & 1 \\ 2 & -2 \end{pmatrix} \begin{pmatrix} h \\ k \end{pmatrix} = \begin{pmatrix} 2 \\ 1 \\ 0 \end{pmatrix} + h \begin{pmatrix} 2 \\ 1 \\ 2 \end{pmatrix} + k \begin{pmatrix} 2 \\ 1 \\ -2 \end{pmatrix}.$$

$$(2, 1, 2) \times (2, 1, -2) = (-4, 8, 0) = -4(1, -2, 0).$$

$$(2, 1, 2) \times (2, 1, -2) = (-4, 8, 0) = -4(1, -2, 0).$$

$$(1, -2, 0) \bullet ((x, y, z) - (2, 1, 0)) = 0$$

$$(2, 1, 2) \times (2, 1, -2) = (-4, 8, 0) = -4(1, -2, 0).$$

$$(1, -2, 0) \bullet ((x, y, z) - (2, 1, 0)) = 0 \Leftrightarrow x - 2y = 0.$$